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Ideals for irreducible component#ﬂ)f Xpar

I = (1096u'® + 7571u!™ + - - - 4 2606b 4 15844, 3961u'® 4+ 29496u'” + - - - + 5212a + 60062,
u'® + 8u'® + -+ 4 40u + 8)

I = (u® — Tu®' -+ 4b— 16, —80u??a + 97u** + -+ —45a + 3, u*® — 3u** + .- — 11lu + 5)

I3 = (u® —u® 4 5u” — 5u’ + 9u® — Tut + 7w — 20 + b+ u, ub —u” + 5u® — 5u® + 9u?

10

—Tud 4+ Tu? +a—2u+
u'® —u® + 6u® — 5u” 4+ 13u® — T’ + 120 — v 4 4u® + 2u + 1)

IY = (au+b+1, v'a+ u 4+ 3ua + a® + 4 + 20 + 4, v + 3u® + 2u — 1)

* 4 irreducible components of dim¢ = 0, with total 85 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I = (1096u'® + 7571u'” + - -

(i) Arc colorings
()
)
)

0.759977u'® — 5.65925u17 + -
0.420568u'® — 2.90522u7 + -

0.759977u® — 5.65925u17 + -
0.879893u!® — 5.90982u17 + -

—1.19052u'® —

(
(
o= (-
- (-
( 0.550460u'® —
o=
o=
o
&
.

a4

Qg

1.44561u!8 + 10.7231ul7 + -
0.930353ul® + 7.22487ul7 + -

0.640061u® + 4.65867ul” + -
0.550460u'® + 4.31504u17 + -

o)
ut —|—2u)

ae

—0.399079u'® — 3.11992u7 + -
0.129893u® — 0.909823u7 + -

( 0.879029u'8 + 6.38162u'7 + - - -

az

a7 =

—0.118764u'® —

(ii) Obstruction class = —1

(iii) Cusp Shapes =

1303 1303

8.97371ul" + - --
4.31504u7 4 - -

0.712970u7 + - - -

3773u18+ 27698u17+

-+ 2606b + 15844, 3961u'® 4 29496u'” +
.+« 4 5212a + 60062, u'® 4+ 8ul® 4 ...

+ 40u + 8)

- — 37.0253u — 11.5238
- — 18.8753u — 6.07982

- —37.0253u — 11.5238
- —29.6182u — 9.44436

— 54.1759u — 15.1274
— 31.4935u — 9.52417

-4 56.3331u + 15.2068
-+ 56.1117u + 15.9685

-+ 21.6825u + 6.60322
-+ 32.4935u + 9.52417

— 23.7630u — 7.95165
— 2.11819u — 1.44436

+29.0679u + 7.33653
+ 2.14083u + 1.38987

165236
Tt 1303 u+

31950
1303




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 w11 4+ =9 —1
C2, g, C7 R L T
C11
c3,C12 w4 2u 41
C4,C5, C8 u® —8ul® + - +40u—8
€9 u® + 17u'® + -+ 672u + 64




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1, C10 y19+3y18+~~-—5y—1
C2,Cq, C7 y19+11y18_~_..__9y_1
C11
c3, C12 y'? =25y - — 8y —1
C4, C5, C8 y'? +16y"° + -+ 32y — 64
Co y'? —9y'® + ... — 7168y — 4096




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.616811 4 0.8550891
a = —1.021840 — 0.6275531
b= —1.166890 + 0.4866791

—3.17455 + 2.332221

—9.09826 — 1.940441

u = —0.616811 — 0.8550891
a = —1.021840 + 0.6275531
b= —1.166890 — 0.4866791

—3.17455 — 2.332221

—9.09826 + 1.940441

u = —1.120010 4 0.1953831
a= 1.52958 +0.029141
b= 1.71883 — 0.266211

—9.12103 + 9.620631

—8.08284 — 6.412261

u = —1.120010 — 0.1953831
a = 1.52958 —0.029141
b= 1.71883 +0.266211

—9.12103 — 9.620631

—8.08284 + 6.412261

u = —0.678394 4 0.4739241
a = —0.638948 — 0.8052801
b= —0.815100 — 0.2434851

—3.94120 + 2.373721

—9.61488 — 3.898951

u = —0.678394 — 0.4739241
a = —0.638948 + 0.8052801
b = —0.815100 + 0.2434851

—3.94120 — 2.373721

—9.61488 + 3.898951

u = —0.643620
a = —2.20220
b= —1.41738

—2.91062

—2.04050

u = —0.283257 + 1.3306401
a = —0.629985 — 0.9659241
b= —1.46374 + 0.564681

1.36748 + 3.357581

—0.130533 — 0.8385901

u = —0.283257 — 1.3306401
a = —0.629985 + 0.9659241
b= —1.46374 — 0.564681

1.36748 — 3.357581

—0.130533 + 0.8385901

u = —0.72609 + 1.257081
a= 0.602034 4 0.8507391
b= 1.50658 —0.139101

—5.96103 — 3.192181

—6.11033 + 3.756591




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.72609 — 1.257081
0.602034 — 0.8507391
1.50658 + 0.139101

—5.96103 + 3.192181

—6.11033 — 3.756591

0.344998 + 0.3465791
0.494258 + 0.3458421
—0.050657 — 0.2906141

—0.136375 — 0.9557271

—2.79406 + 6.935791

= 0.344998 — 0.3465791
0.494258 — 0.3458421
—0.050657 4 0.2906141

—0.136375 4 0.9557271

—2.79406 — 6.935791

—0.20896 + 1.505401
0.164518 — 0.4515211
—0.645343 — 0.3420171

2.53796 + 5.542351

—7.14543 — 3.277431

—0.20896 — 1.505401
0.164518 + 0.4515211
—0.645343 + 0.3420171

2.53796 — 5.542351

—7.14543 4 3.277431

—0.49084 + 1.460471
0.735940 + 0.9060771
1.68453 — 0.630081

—3.8953 + 15.34651

—4.88591 — 8.000971

—0.49084 — 1.460471
0.735940 — 0.9060771
1.68453 + 0.630081

—3.8953 — 15.34651

—4.88591 + 8.000971

0.10117 + 1.568241
0.115543 + 0.2883371
0.440490 — 0.2103711

6.50755 — 2.807381

—1.61751 + 0.286981

0.10117 — 1.568241
0.115543 — 0.2883371
0.440490 + 0.2103711

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

6.50755 + 2.807381

—1.61751 — 0.286981




IL. 1Y = (u®? — Tu?' + ...+ 4b— 16, —80u??a + 97u?? + ... — 45a + 3, u?3 —

3u?? + ... — 11u + 5)
(i) Arc colorings
1
aq =
G
- ( ;)
a
~Ly22 Ty g 8Ty g
a
ar= \—1y2 4 T2l 4. 8Ty 4y
0. 350000u22 — 2.05000u2! + - - - + 10.7000u — 3.85000
az = —u??q — Zum 4= %a + %
(0 .0500000u22 — 1.15000u?! + - - - + 8.35000u — 4.55000>
3422 322+._._15a_§
1 1
iu22a—|—§gu22—|—-~‘+4a—%
—u2 4 9y o B2 T
NES
u? 41
ag = \u* + 2u?
%uzlaJrlluer.“Jr S5q— 9
az = u22a 22+~~77u+1
3u22a+;§u22+-~-—2a—%
a7 = 3U22CL+ u22+-~-—|—ga—4
(ii) Obstruction class = —1

(iii) Cusp Shapes
= 2u?! — 5020 + 25u'® — 4818 + 1261 — 19166 + 333u'® — 398u? + 4843 — 437w +
341wt — 19109 + 2942 + 56u® — 78u” + 72ub + 8u® + 13u? + 23ud + 6u® — 8u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 ut® + 260t + - +2067u + 121
€2, 6, €7 ut® — 20" + .. — 45u+ 11
C11
c3,C12 u46—2u45+---—|—117u+7
C4, Cs5, C8 (u® +3u*? - — 11lu —5)?
Co (u® — 8u?? + ... — 26u+5)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 10 Y20 — 6y 4 ... — 691857y + 14641
2,6, €7 Y10 + 26y + - 4+ 2067y + 121
C11
€3, C12 Y0 — 42y 4 ... 4 4707y + 49
C4, C5, C8 (y* +21y* + - - + 51y — 25)°
Co (y* —32y* + - -+ + 36y — 25)°




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.949457 + 0.2743011
= —1.53072 4+ 0.321121
—1.70279 — 0.293021

—6.21980 — 4.087001

—6.45479 4 3.280191

0.949457 + 0.2743011
1.73757 — 0.193371
1.54144 + 0.114991

—6.21980 — 4.087001

—6.45479 4 3.280191

0.949457 — 0.2743011
—1.53072 — 0.321121
—1.70279 4+ 0.293021

—6.21980 + 4.087001

—6.45479 — 3.280191

0.949457 — 0.2743011
1.73757 + 0.193371
1.54144 — 0.114991

—6.21980 + 4.087001

—6.45479 — 3.280191

= 0.129915 + 1.0434201
= —0.493058 + 0.8480901
= —1.94953 — 0.230671

—5.55917 — 0.572991

—3.52244 — 2.341381

0.129915 + 1.0434201
= 0.44678 — 1.812771
0.948973 + 0.4042881

—5.55917 — 0.572991

—3.52244 — 2.341381

= 0.129915 — 1.0434201
= —0.493058 — 0.8480901
—1.94953 + 0.230671

—5.55917 + 0.572991

—3.52244 4 2.341381

0.129915 — 1.0434201
0.44678 + 1.812771
0.948973 — 0.4042881

—5.55917 + 0.572991

—3.52244 4 2.341381

0.157565 + 1.1697801
= 0.170495 — 0.8846791
—0.525087 + 1.2990101

2.81400 — 1.374851

—2.47637 4 0.946051

0.157565 + 1.1697801
= —1.031300 — 0.5877881
= —1.061750 — 0.0600471

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

2.81400 — 1.374851

—2.47637 + 0.946051
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.157565 — 1.1697801
0.170495 + 0.8846791
—0.525087 — 1.2990101

2.81400 + 1.374851

—2.47637 — 0.946051

0.157565 — 1.1697801
—1.031300 + 0.5877881
—1.061750 + 0.0600471

2.81400 + 1.374851

—2.47637 — 0.946051

—0.297704 + 1.1642901
= —0.315648 — 0.6814157
0.02755 + 1.630951

1.67762 + 7.268971

—4.60706 — 6.867271

—0.297704 + 1.1642901
—1.309170 + 0.3584081
—0.887336 + 0.1646461

1.67762 + 7.268971

—4.60706 — 6.867271

—0.297704 — 1.1642907
—0.315648 + 0.6814151
0.02755 — 1.630951

1.67762 — 7.268971

—4.60706 + 6.867271

—0.297704 — 1.1642907
—1.309170 — 0.3584081
—0.887336 — 0.1646461

1.67762 — 7.268971

—4.60706 + 6.867271

0.701104 + 1.0245101
—0.679056 + 0.7993811
—1.62187 — 0.290061

—4.06293 — 1.564051

—5.563705 + 2.007181

0.701104 + 1.0245101
0.930638 — 0.9462081
1.295060 + 0.1352491

—4.06293 — 1.564051

—5.63705 + 2.007181

0.701104 — 1.0245101
—0.679056 — 0.7993811
—1.62187 + 0.290061

—4.06293 + 1.564051

—5.563705 — 2.007181

0.701104 — 1.0245101
= 0.930638 4 0.9462081
1.295060 — 0.1352491

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—4.06293 + 1.564051

—5.563705 — 2.007181

11



Solutions to I¥ V—1(vol + /—1CS) Cusp shape
u = —0.700899
a= 2.31801 4 0.388651 —11.2801 —11.1210
b= 1.62469 — 0.272401
u = —0.700899
a= 2.31801 — 0.388651 —11.2801 —11.1210
b

= 1.62469 + 0.272401

u=0.098502 + 1.3440507
a= 0.866199 — 0.0958051
b= 0.845917 — 0.0311571

5.30060 — 3.060781

0.29039 + 3.858171

u=0.098502 + 1.3440507
a = —0.022822 + 0.6277081
b= —0.214088 — 1.1547801

5.30060 — 3.060781

0.29039 + 3.858171

u=0.098502 — 1.3440507
a= 0.866199 + 0.0958051
b= 0.845917 + 0.0311571

5.30060 + 3.060781

0.29039 — 3.858171

u=0.098502 — 1.3440507
a = —0.022822 — 0.6277081
b= —0.214088 4 1.1547801

5.30060 + 3.060781

0.29039 — 3.858171

u = —0.314282 + 1.3358201
a= 0.636808 + 0.8192421
b= 1.79937 —0.024111

—7.00942 + 3.667371

—5.63248 — 4.771821

u = —0.314282 + 1.3358201
a= 0.317399 + 1.2723401
b= 1.29450 — 0.593191

—7.00942 + 3.667371

—5.63248 — 4.771821

u = —0.314282 — 1.3358201
a= 0.636808 — 0.8192421
b= 1.79937 + 0.024111

—7.00942 — 3.667371

—5.63248 + 4.771821

uw = —0.314282 — 1.3358201
a= 0.317399 — 1.2723401
b= 1.29450 + 0.593191

—7.00942 — 3.667371

—5.63248 + 4.771821

12



Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —0.540846 + 0.3159181
a= 0.051854 — 0.1501631
b= —0.539179 — 1.2274001

—0.93518 — 3.996711

—9.62845 + 1.409731

u = —0.540846 4 0.3159181
a= 0.24507 — 2.126261
b= —0.0193942 — 0.09759691

—0.93518 — 3.996711

—9.62845 + 1.409731

= —0.540846 — 0.3159181
0.051854 + 0.1501631
—0.539179 + 1.2274001

U
a
b

—0.93518 4 3.996711

—9.62845 — 1.409731

= —0.540846 — 0.3159181
0.24507 4 2.126261
—0.0193942 + 0.09759691

—0.93518 4 3.996711

—9.62845 — 1.409731

0.499495 + 0.2323251
0.80490 + 1.318161

U
a
b
U
a
b = —0.0999299 — 0.05580641

0.125631 — 0.9913681

—5.18428 + 5.585561

u= 0.499495 4+ 0.2323251
a= 0.207202 + 0.0153521

b= —0.095801 — 0.8454131

0.125631 — 0.9913681

—5.18428 + 5.585561

u= 0499495 — 0.2323251
0.80490 — 1.318161
b = —0.0999299 4+ 0.05580641

a =

0.125631 + 0.9913681

—5.18428 — 5.585561

u= 0.499495 — 0.2323251
a= 0.207202 — 0.0153521
b= —0.095801 + 0.8454131

0.125631 + 0.9913681

—5.18428 — 5.585561

u= 040672+ 1.441821
a = —0.563943 + 0.9619511
b= —1.54904 — 0.715501

—0.79781 — 8.960701

—2.64189 + 5.311571

u= 040672+ 1.441821
a = 0.740402 — 0.8655071
b= 1.61633 + 0.421861

—0.79781 — 8.960701

—2.64189 + 5.311571
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.40672 — 1.441821
= —0.563943 — 0.9619511
= —1.54904 + 0.715501

—0.79781 + 8.960701

—2.64189 — 5.311571

= 0.40672 — 1.441821
= 0.740402 + 0.8655071
= 1.61633 —0.421861

—0.79781 + 8.960701

—2.64189 — 5.311571

0.06052 + 1.525621
0.443758 — 0.3121311
= 0.775017 — 0.2273081

5.50209 — 2.763411

—4.54493 + 5.663901

0.06052 + 1.525621
0.128639 + 0.5131061
—0.503049 — 0.6581131

5.50209 — 2.763411

—4.54493 + 5.663901

0.06052 — 1.525621
= 0.443758 4- 0.3121311
0.775017 + 0.2273081

5.50209 4 2.763411

—4.54493 — 5.663901

0.06052 — 1.525621
= 0.128639 — 0.5131061
= —0.503049 + 0.6581131

> Q@ €|l & €| & €| & 8| & 2| & &
Il

5.50209 4 2.763411

—4.54493 — 5.663901
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L I¥ = (u® —u+ - +btu, v —u"+---+a+1, v'®—uw¥ 4. +2u+1)

(i) Arc colorings

w-(3)

0
a9= u
1
as = U2
—u® +u” — 5ub + 5u5 — Jut + Tud — Tu? +2u—1
a2 = \ —u¥ +ud — 5u” + 5u’ — 9u® + Tut — Tud +2u? —u
—u® 4w —5ul +5u — 9t + T — Tu +2u— 1
a1 = \ —y% +2u8 — 54" + 9ub — 9ud + 12u* — 6w + 5ul +u+1
ud —u” + 5ub — 4u® + 8u* — 3u® + 4u? + 2u
a3 = \ ¢y —ud 4+ 5u” — 4ub + 8u® — 3u* + 4uP + 2u? —u
2u8 — u” + 9u® — 4u® + 13u* — 2u® + 8u 4+ du + 2
a10 = \ 202 — 208 + 10u” — 9ub + 17u® — 10u* + 11 +u — 1
—ud 4+ 2u® —6u” +9uS — 120 + 11wt — TP+ 20+ 2u— 1
ail = u? —ud + 5u” — 4ul + 8u® — 3ut + 4ud + 2u?
u
ag = \yd+u
w?+1
as = \u? + 242
ud —u” + 5ub — 3u® + Tut + 2u? + 4u
a2 = \ 9 +5u" +8u’ +2u* +5u +5u +u+1
—u? 4+ u® — 6u” + 6u’ — 13u’ + 10u? — 1203 + 4u? — 3u + 1
ar = u® + 4ub + 5ut + 2ud + 3u? + du+ 1

(ii) Obstruction class =1

(iii) Cusp Shapes = 5u” — 4u® + 244" — 20u® + 44u® — 28u* + 40u> — 8u? + 12u

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 w— 7+ —8u+1
Co,C7 wl® — 0 + 4u® — 307 + Tu® — 40’ 4 Tut — 30 + 4 + 1
c3,C12 w4+ u® —2u® — 40" —3uS +u® 4+ 6ut + Tud + 6u +3u+1
C4,C5 w® —w® +6u® —5u" +13u8 — T® + 120t — WP+ 4P+ 2u+ 1
Cg, C11 w'® + w0 + 40+ 3u" + Tl + 4’ 4+ Tut + 30 A+ 1
Cs wl® + 0 + 6ud 4+ 50" + 136’ + 70’ + 120 + uP + 4u? —2u+1
Co u'® — 4u® 4+ 6u® — 100" + 1768 — 130’ + 11u* — 7u® — 2u® +u + 1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,¢10 Y0 — ) — 1997 — 2195 + 3495 + 145y + 2173 +102y% — 4y + 1

€2,Ce6,C1 ylO+ 7+ 48y +1
C11
c3,C12 yt0 — 537 4+ 6% + 6y7 — 9y — 9y° + 6y* + 119> + 69> + 3y + 1
10 9
C4, C5,C8 yo 4+ 11y + 44y +1
Co y =4y’ - =By +1

17



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.250000 + 0.9986571
= 0.59595 — 1.383521
1.53065 + 0.249271

—8.30263 — 0.985081

—8.00878 4 0.352121

0.250000 — 0.9986571
0.59595 + 1.383521
1.53065 — 0.249271

—8.30263 + 0.985081

—8.00878 — 0.352121

0.692359 + 0.8571801
—0.929090 + 0.7095841
—1.251510 — 0.3051111

—2.35435 — 2.600431

0.40869 + 4.756931

0.692359 — 0.8571801
—0.929090 — 0.7095841
—1.251510 4+ 0.3051111

—2.35435 + 2.600431

0.40869 — 4.756931

= —0.159586 + 1.3765401
0.576417 — 0.0854591
0.025649 + 0.8070971

3.84271 + 6.230981

—0.71193 — 5.557311

—0.159586 — 1.3765401
= 0.576417 + 0.0854591
0.025649 — 0.8070971

3.84271 — 6.230981

—0.71193 4 5.557311

= 0.00345 + 1.561501
= —0.310078 + 0.3147231
—0.492510 — 0.4831021

6.88666 — 3.665251

2.21222 + 7.649651

0.00345 — 1.561501
—0.310078 — 0.3147231
—0.492510 + 0.4831021

6.88666 + 3.665251

2.21222 — 7.649651

—0.286221 + 0.2899221
= —0.93320 + 1.998411
= —0.312283 — 0.8425411

—0.07240 — 4.464161

—0.40020 +- 6.181861

—0.286221 — 0.289922]
= —0.93320 — 1.998411
= —0.312283 + 0.8425411

> Q@ €|l & €| & €| Q& €| & €| & €| & &8> & | & 8| & &
Il

—0.07240 + 4.464161

—0.40020 — 6.181861
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IV. I} = (au+b+1, u*a+u*+3u?a+a®+4u®+2a+4, u® +3u+2u—1)

(i) Arc colorings

w- (o)

0
agz u

1
as = U2

a
a2 =\ —aqu—1

a
a1 = \u?q—au—1
—u® —2u
a3 = \ut—au+2u?2+u—1
w—u?+2u—1

a10 = \uda — 2u* 4+ 20u — 4u® —a + 1

wWHut+2ul+a+2u+1
ajl = _u4_2u2

u
ag = \uyd+u

w?+1
as = \u? + 242

—uda—ud —au+a—2u
a2 = \y*+ua—au+2u+u—1

—ua — u?a — 2au
a7 = w?a +ud + 2u
(ii) Obstruction class =1

(iii) Cusp Shapes = 4u* — 3u® + 8u? — 6u — 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 w =7+ = Tu+1
Co,C7 ul® — 0 +40u® — 30"+ 7 — 3w 4+ Tut — 3P+ 4w —u+1
c3,C12 u'® 4+ 5u” 4 8ud 4 20" — 8ub — 10u® — 2u? + 5u® + 6u® + 3u + 1
C4,Cs (u® + 3u® + 2u — 1)?
Cg, C11 '+ + 4+ 30T+ T + 3 + Tt + 3 A +u+ 1
Cs (u® + 3u® + 2u + 1)?
C9

(u® + 2ut +u® + 2u? + 2u — 1)?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C10 y'O =y oy +1
€2,Ce6,C1 g0+ 7 4+ Ty +1
C11
c3,C12 yt0 — 9y® 4 28y° — 36y7 +34y% — 209° + 129 — 53 + 207 + 3y + 1
Ca,C5,Cs (y° + 6y* + 13y> + 129 + 4y — 1)2
© (v° —2y" = 3y° + 4% + 8y — 1)
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Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.351694 4 0.9894931
a = —0.548693 — 0.7773351
b= —-1.96214 + 0.269541

—5.97351 4 1.365791

—9.71244 — 4.937111

u = —0.351694 4 0.9894931
a= 0.86761 + 1.674601
b= 0.962140 — 0.2695441

—5.97351 4 1.365791

—9.71244 — 4.937111

u = —0.351694 — 0.9894931
a = —0.548693 + 0.7773351
b= —1.96214 — 0.269541

—5.97351 — 1.365791

—9.71244 4 4.937111

u = —0.351694 — 0.9894931
a= 0.86761 —1.674601
b= 10.962140 + 0.2695441

—5.97351 — 1.365791

—9.71244 4 4.937111

u = 0.15201 + 1.499151
a= 0.311870 4 0.5942011
b= —0.156612 — 0.5578631

5.78657 — 2.101011

0.31723 — 3.662971

uw = 0.15201 + 1.499151
a = —0.378818 4 0.0660571
b = —0.843388 4- 0.5578631

5.78657 — 2.101011

0.31723 — 3.662971

uw = 0.15201 — 1.499151
a= 0.311870 — 0.5942011
b= —0.156612 + 0.5578631

5.78657 4+ 2.101011

0.31723 + 3.662971

uw = 0.15201 — 1.499151
a = —0.378818 — 0.0660571
b= —0.843388 — 0.5578631

5.78657 4 2.101011

0.31723 + 3.662971

u= 0.399372

a = —1.25197 + 1.759551 0.373884 —4.20960
b = —0.500000 — 0.7027141

u= 0.399372

a = —1.25197 — 1.759551 0.373884 —4.20960

b = —0.500000 + 0.7027141
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V. u-Polynomials

Crossings u-Polynomials at each crossing
e1.c1o (W =7’ 4 = Tu+ D)W — T 4 —8u+1)
St 11wt = 9u — 1) (w260t - 4 2067w + 121)
(u® — u® + 4u® — 3u” + Tub — 4u® + Tut — 3ud + 4u® + 1)
2, ¢
2 (' —u® 4 4u® = 30"+ T8 — 30 4 Tut — 3uP 4+ 4w —u+ 1)
(= w4 — w4 1) (Wt — 20 4 — 45+ 11)
(u'® +u? — 2u® — 4u” — 3u® + v’ + 6ut + Tu® + 6u® + 3u + 1)
3, ¢
S (w4 5u® + 8ud + 2u” — 8u® — 10u® — 2ut + 5ud + 6u® + 3u+ 1)
(=t 2u 1) (uf = 20+ 11T T)
(u® + 3u® + 2u — 1)?
4,
b (' — w4 6u® — 5u” 4+ 13u® — Tud 4+ 120t — ud + 4u® + 2u + 1)
C(u! = 8ul® 4 440w — 8)(u® + 3u?? + - — 11u — 5)?
(u'® +u? + 4u® 4+ 3u” + Tu® + 3u® + Tut + 30 + 4u? Fu 1)
Cp, C . .
o (' u® + 4u® 3T 4 Tub  4u® 4 Tut - 3ud 4 4 1)
(=t = D) (U = 20t - — 450+ 11)
cs (u® 4 3u® + 2u +1)2
(4w 4 6uB 4 5u” 4+ 130’ + Tud 4 120t +ud + 4u® — 2u + 1)
C(u! = 8ul® 4 40w — 8)(u + 3u?? + - — 11u — 5)?
o (u® + 2u* + u® + 2u® + 2u — 1)?

S(u —4u” +6ou” — 10u” + 17w — 13u™ + 1lu™ — 7u” — 2u” +u +
10— 40® + 6u® — 10u” + 170 — 13u® + 11u* — 7u® — 2u° 1
(w17t 4 6720+ 64) (uP — 8u?? - — 26u + 5)2
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
(y'% —y® — 19y" — 21y° 4 34y + 145y* + 217y + 102y% — 4y + 1)
C1, C10
W=y D+ 3y 4 By 1)
(15 — 6y*® + .- — 691857y + 14641)
C2, Cg, C7 (Y O+7y + 8y + D)+ T+ Ty + 1)
c11 Sy 4 11y 4 — 9y — 1) (91 + 26" + -+ 2067y + 121)
(y10 — 9y° + 28y — 36y" + 345 — 20y° + 12y* — 5y + 242 + 3y + 1)
C3,C12 =
(y" = 5y +6y° + 6y" — 9y°® — 9y° + 6y* + 11y° + 6y* + 3y + 1)
Syt — 25y 4 — 8y — 1) (y*0 — 429" + -+ 4 4707y + 49)
C4,C5,Cs ((y° + 6y + 1312 + 1292 + 4y — DH (@0 + 1197 + - + 4y + 1)
Sy 416y 4 -+ 32y — 64) (v + 21972 + - + 51y — 25)2
co ((° = 20" =3y + 49> + 8y — 1)*)(y"* — 4 +--- =5y + 1)
Syt — 9yt 4 - — 7168y — 4096) (y* — 32y*2 4 - - - + 36y — 25)2
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